ARSI RECM2% 51 55 (30 15 AR R S AT

I iR 5
| a@Emm) [ 2 | 25 | 3 | 40 | 2
i SEE il
MEA T BEWMIER 17
EZERARN =8 7T
I E R ES 1.5MPa e
RBERED 1.0MPa
BIEERESD 0.05MPa
WIENRERE To b M FF 2%:-10°C~T70°C, 5 B 4 FF %:-10°C~60°C
485 rEE
TEKEAE s
EREERE 50~750mm/s
& B E
s 0.27J 0.4J 0.65J 1.2
G 0.11J 0.18J 0.29J 0.52J
IB2ERTFHE B ELH, EABETISAISOVG632
RECM2 c 20 oz v 152
RECDM2 C 20 Od A N \
T — — — — _:l_ fr—
TR T
(PO B 8 5%) —
Tl
g20mm LV e
75 ©25mm W RESSER
Gr [ s
N T T T | 788
e xies TolERE -
B zsEams R | BERK
[ 24n RN EAEY 32 % #5YC, TUE,VUZ
wEMER [ B AEAE MR REER 20 1000
FHE=E EIF—{#3(90°) 25 255075100125 1500
TAFE=E [ v ARy — — 32 150200 250 300
[CE T Eree e G T BV 40 2000
[ WEFE (] ToA IS RSB
FAFUE A IR
| MERTE(ER)
[RECM2B HIZ-1712 7|
G
sz H2 G 2xReP l“ /_MN_
B HI /
[ ] Tis i o>

s ik ik

] — i
M”_L J15 L NUNHSE "/‘j

NA

AL | 15 A3, 2xFL
ZEEKA | E NA
| H S+iTHE F__{
” | 2z4458 -
Fum T ik R IR e B

L PR STMM L

- i i ¥ BELRAT T

ZZ+iTH H
ZZ+iTHE

F i B HimRBREE (mm)
lllﬂl!lll!lllll.llﬂ..“ﬂlllm-
20 18 155 13 26 8 20 fe: 13 105 8 41 5 8 5 6 M8X1.25 24 M20x15 1/8 62 116 20 103 20 8 20 M4X0.7 95
25 22 19.5 17 32 10 26 80 13 10.5 8 45 6 8 33.5 55 8 M10X1.25 30 M26X1.5 1/8 62 120 25 107 25 8 20 M5x0.8 95
32 22 19.5 17 32 12 2650 13 105 8 45 6 8 37.5 5.5 10 M10X1.25 345 M26X1.5 1/8 64 122 32 109 32 12 20 M6x1 97
40 24 21 22 41 14 32809 16 13.5 11 50 8 10 46.5 7 12 MI14X15 425 M32X2 1/4 88 154 40 138 40 13 21 M8x01.25 125

RBYEANG S REEEARNER ERRFER S ABAERNGE RETHMREREES, U EFREMRBELSE,

132



ARSI RECM2Z 517 55 (T /5 F) R AR S AT

| MERTEER)
[RECM2L 121712 Z |

kB G _F, 2xNN
ZERKA - | AEzuiReieE2 « FL) .
~ (4 ,_(ﬂ’
| ( 6 ! .
sl 24 —. o
/= 4% LD T
MM /) \_mERCONA \—r A

<IN

v x i S+iTi2 L. X '
iy LS+i712 ‘—"

A L ZZ+§T#E o1z .
lﬂlﬂllﬂllllllll“.“ﬂll
20 18 15.5 13 13 26 8 13 10.5 8 41 28 5 6 4 6.82510232 40 55 M8X1.25 24 M20X15 1/8 62 20 8 21 131

25 22 19.5 17 17 32 10 13 10.5 8 45 6 8 33.555 8 4 6.82810232 40 55 M10X1.25 30 M26X15 1/8 62 20 8 25 135
32 22 19.5 17 17 32 12 13 10.5 8 45 6 8 37.55510 4 6.8281043.2 40 55 M10X1.25 345 M26X15 1/8 64 20 8 25 137

40 24 21 22 22 41 14 16 13.5 1150 8 10 46.5 7 12 4 7 301343255 75 MI4X1.5 42.5 M32X2 1/4 88 23 10 27 171
XTI V\]E’?@(&ﬁ HEAR

*LHRE
R _1TF=2 OB
| RECM2F fIZ-1718 Z | _ M\L‘E §. Bk .
. N ol
Wz ol - Siigr
2ol aof 1] =
;‘\ —\'P-l ml & = u § =
2x OFD/ FX /| = N\ mEEONA BB E
rz = Y arwl s L 2xFL
7z
H | S+{Ti% F
! ZZ+iT12
= K Ak
5 w & N . |
N AN
DAOMIFHE ZZ+4TH
IEHI!IIIII!IIIII.I“.“III
18 15.5 34 13 26 30 8 20Js 13 10.5 75 8 41 28 5 6 M8X1.25 24 M20X1.51/8 62 37116 20 103
25 22 19.5 40 17 32 37 10 264003 13 105 7 4 60 - 75 8 45 6 8 33.5 55 8 MI10X1.25 30 M26X1.5 1/8 62 41120 25 107
32 22 19.5 40 17 32 37 12 26003 13 105 7 4 60 - 75 8 45 6 8 37.5 55 10 M10X1.25 34.5 M26X1.5 1/8 64 41122 32 109

40 24 21 52 22 41 47.3 14 3250 16 13.5

KT RAENESDELE
R

[RECM2G FIRR-1512 Z|

-
(€}

66 36 82 11 50 8 10 46.5 7 12 M14X15 42,5 M32X2 1/4 88 45154 40 138

| HRREER x FL ‘
Ai#B1 H12xNN G 2xRcP ahug_ *ihB2 &/ /%;% 4;;;{1
R TR ©
88 %_ : 5 & ’l-m fr\ x
ﬂ/ AL 1.5 \ HEBLNA X [Md} %
ZERKA A K .-5- Fz . DA0RIHE
Z+ﬁ5éﬁ L: ET 020~ 032MHE
Z7+5TH
.E.ﬂ-.llllln-m-“ﬂ.-
18 15,5 34 13 26 8 | 20 Samw 105 7 4 60 41 5 8 5 6 M8X1.25 24 M20X15 1/8 62 107 116

25 22 195 40 17 32 37 10 2600 13 105 7 4 60 - 75 8 45 6 8 335 55 8 M10X1.25 30 M26X15 1/8 62 111 120
32 22 195 40 17 32 37 12 26400 13 105 7 4 60 - 75 8 45 6 8 375 55 10 M10X1.25 345 M26Xx1.5 1/8 64 113 122
40 24 21 52 22 41 473 14 3200 16 135 7 5 66 36 82 11 50 8 10 465 7 12 MI14x1.5 42.5 M32x2 1/4 88 143 154

133



P ARSI

| M RTEER)

[RECM2C HIZ-1712 Z |

RECM2Z 51| A 55 1 (X 1 FB) ik /R S EL

@ CDH10* ™

@oCl

B2 « FL
#ihB1  H1
e ey _NM| G 2%ReP G
i II il
= i
Zlo i -
e|® n M
-,
MM/ AL 1.5
—ERKA A K IF Li.
H S+iT# L
Zi+iTiE RR
ZZ P+ TR

5\
>,

-
&\-

0
>
bb

--ﬂl!-l-lll--m-.m.ﬂm---

20 18 15.5 13 24 9 10 8 205 10.5 8 6 30 M8X1.25 24 M20X1.5 1/8 9 133 142
25 22 19.5 17 30 9 10 10 265, 13 10.5 8 45 6 33.5 5.5 8 30 M10X1.25 30 M26X1.5 1/8 9 62 14 137 146
32 22 19.5 17 30 9 10 12 2635, 13 10.5 8 45 6 37.5 5.5 10 30 M10X1.25 34.5 M26X1.5 1/8 9 64 14 139 148
40 24 21 22 38 10 15 14 3205, 16 13.5 11 50 8 46.5 7 12 39 MI14Xx1.5 42.5 M32X2 1/4 11 88 18 177 188
KFHIHERNEBENRES IERE
[RECM2D FIRR-1718 Z |
BHRWE I EFL ®©CDHip*"§™
CL
w481 Hi B ounsp i<y mdgﬂw_n.om /
B Y
T B <
b It i i 1 '-1
.,a e
&g — - s 2
) =5 .
. —
MM/ AL ALis I Jext
—ERKA A |LE u cz
H S+7iE L NA
Z TR R
szﬂ“'ﬁﬁ

lllﬂﬂlll!llll.l“.“ﬂﬂﬂll-

20 18 15.5 13 24 25
29 | 22| 19,517 | 30| 25
32 | 221 195 | iy | S0 [ 25

40 24 21 22 38 41.2 10 15 30 14 3240

[RECM2U FIRR-1712 7|

9 10 19 8 20S50s
9 10 19 10 269
9 10 19 12 2640

QTD oo bl

N

W
@;J

13105 8 41 5 28 5 6 30 M8X125 24 M20XL5 1/8 9 62 14 133 142
13 10.5 8 45 6 33.5 5.5 8 30 MIOXL25 30 M26X15 1/8 9 62 14 137 146
13 10.5 8 45 6 37.5 5.5 10 30 MIOXL25 34.5 M26X15 1/8 9 64 14 139 148
16 13.5 11 50 8 46.5 7 12 39 MI14XL5 42.5 M32x2 1/4 11 88 18 177 188
1ihB2
G 2« Re P 2x NN
st b\ I
T =
¥ .
ol 1T = : 3]
e H ‘\ ] 8
mn/ T\ ERRGKE
AL Eiils B
KA A K LIT 1.5
il
H S+{T#E ya
ZZ+5TH8 5
- T | ™1
e 1 i 1!.” il
ZZ+5718

\Il

-ﬂﬂllllll-lm-IMIﬂ--

155 i3
25 22 195 17 32 10
32| 22 (18| A7 | 32 | 12
40 24 21 22 41 14

20503
2 6 -0.033
260,033
32003

13 10.5 8 41 5

28 5 6 M8X1.25 24 M20X15 1/8 6
13 10.5 8 45 6 33.5 5.5 8 M10X1.25 30 M26X15 1/8
13 10.5 8 45 6 37.5 5.5 10 M10X1.25 34.5 M26X1.5 1/8
16 13.5 11 50 8 46.5 7 12 MI14X15 42.5 M32X2 1/4

62 9
64 9
88 10

52 36 116
60 40 120
60 40 122
77 44.5 154

20 103
25 107
32 109
40 138

10 40 40
10 40 40
| 53 | 53

134

%
&
78
17
T
s




ARSI RECM2Z 517 55 (T /5 F) R AR S AT

| M ERTEEN)

[RECM2T HRH2 Z |

— BRBG L x FL " _— .
o P N
N T apa
£ :
— A
= X s
MM/ AL 1.5 MUEELINA
—EBKA A_IK |LE] I
H Sii78 AN
Z+iTHE "J.
ZZ+4THE
I8 7 0 0 2 A 7 T R
15.5 8 |20 8| 13| 10.5| & |4 M8X1.25 24 M20X1.5 1/8 108 118

25 22 19.5 17 32 10 269, 13 10.5 8 45 6 33.5 5.5 8 MI0xX1.25 30 M26X15 1/8 62 9 10 40 40 60 112 128
32 22 19.5 17 32 12 265y, 13 10.5 8 45 6 37.5 5.5 10 M10X1.25 345 M26X1.5 1/8 64 9 10 40 40 60 114 124
40 24 21 22 41 14 3284 16 13.5 11 50 8 46.5 7 12 M14X15 425 M32x2 1/4 88 10 11 53 53 77 1435 154

[RECM2E HRH2 Z |

LS+iT#
ZZ+iTEE
L Z+iTHE LP
H S+THE T L _|RR
A K F 9]
r AL -_-__G 2xRcP S ©CD H104*
H1 15[ | \
| ;
I HER wly
¥ ! |

DEh&
oD
\[_T'|
L
|
|
/

2
~d

r le

]E

|

1

HihB1 NN / '
HHBL AL _

LT
— -t
L
ﬁ

EX—&FA(90° ) (V)
pii{m]

lersx
1

|
|

SRS F— R AR (ENER

--I!I!-lllllll-lm--m-ﬂlﬂ---

155 | i8] & | 20 20 5033 10.5 8 12 M8X1.25 24 M20X1.5 1/8 9 62 11.5 108 118
25 22 195 17 8 22 12 10 2660 13 105 8 45 6 33.5 55 8 12 M10xX1.25 30 M26x1.5 1/8 9 62 11.5 112 128
32 22 19.5 17 10 27 20 12 2640 13 10.5 8 45 6 37.5 55 10 15 M10X1.25 34.5 M26x1.5 1/8 12 64 14.5 114 124
40 24 21 22 10 33 20 14 3240 16 13.5 11 50 8 465 7 12 15 M14X1.5 425 M32X2 1/4 12 88 145 1435 154

HIN“?E%

37 3.2 184 59 152
25 68 15 30 30 37 32 184 59 156
P Y 15 40 40 50 4 28 75 174
40 9 15 40 40 50 4 28 75 203

135



